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UP Constable 17 Feb 2nd Shift

g fafafes 3 @ e g dws
20 Fore T IuTE R 7
(A) TR TETE
(B) EHE Bt
(C) HEATA Tac
(D) T Yee
“Godan” is the novel written by whi
' h of
the following famous author ? Jinae
(A) Jaishankar Prasad
(B) Suryakant Tripathi
(C) Makhanlal Chaturvedi
(D) Munshi Premchand

ﬁﬁf&ﬁﬁﬁﬁmwwxﬁfﬁ

T qEHR 8 ?
(A) H@TA (B) TRV
(C) I fengyor (D) v

Which of the following is the highest
civilian award of India ?

(A) Bharat Ratna

(B) Padma Bhushan

(C) Padma Vibhushan

(D) PadmaShri

P & fow Ra @ v |

egifpe fega 3 T HHET AT 27
(A 15 dTH (B) 26l

(C) 267a (D) 30 fEEst
Which of the following days is
celebrated  as «“Constitution  Day

-(Samvidhan Divas)” in India ?

(B) 26" January

(A) 15™ August
30t December

(Cy 26" November (D)
o 3 2 e R o A
2?1
(%0 &
(C) U

Which of the following contains “Lactic
Acid” ?

B) o

ap (B) Vinegar
g Rihach (D) Tamarind

B "7 % o
R AT Vi i e T P N

(D) T i

RS PITTIHNCETR TN PSLATEY & 208 s
- "-M‘m’tﬁw‘am‘m«w;mw"‘" n

2

5.

T T e & & foa T

- Y%
(A) IWGEs (B) WY ﬁl‘:

(C) RmmEawy oy T

“ngi Padva” is a spring-time festival of
which of the following States ?

(A) Uttarakhand

(B) Maharashtra
(C) Himachal Pradesh

(D) Gujarat
SEOEl HOA D gl

ﬁmﬁfﬁa’dﬁ%fmﬁmﬂum%'{
(A) aTE ST IR AT @ HArea

(D) & AT

The responsibility of conducting the

decadal census rests on which of the

following ministries ?

(A) Ministry of Housing and Urban
Affairs

(B) Ministry of Planning

(C) Ministry of Information and
Broadcasting

(D) Ministry of Home Affairs

mmmmg@m

frffaa o & el fRA R ?
(A) SR ®B) ¥
@ wfet (D) TR

The headquarters of the National Human
Rights Commission is situated at which
of the following ?

(A) Bengaluru (B) Mumbai

(C) NewDelhi (D) Mysuru

mmﬁﬁwaﬁmﬁ%fm

Wihat is the helpline number to register 4
complaint for Cyber Crime 9

(A) 1910 ° (B) 1920

© 1930 (D) 1940

ol
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10.

11'

12.

~ convergence pro

Join Telegram Group

HaryanaJobs.in

S Hew i
(&5 am% y

(B) &7 37T9h), "oy
© g’l, Eite) 8 ,,_ Ll
(D) &, g, i

What is the tagline of Uttar Pradesh
Police ? '

(A) Satyamev Jayate

(B) Suraksha Aapki, Sankalp Hamara

(C) .Seva, Veerta, Bandhuta

(D) - Seva, Suraksha, Shanti

e & e & & e ot e & 7
(A) ITEHrET
(C) rara
Aryabhatta  Research Institute  of
Observational Sciences is located in
which - of the following districts of
Uttarakhand state ? "
(A) Almora
(C) Nainital .

(B) | Champawat
(D) Chamoli

G E s 7

(A) WAFT

(B) ﬁaﬁﬂmaﬁ?ﬂ

© #TEd

(D) Tt 3T

What is the full form of G207

(«4) Group of Twenty =

(B) Gathering of Twenty.

(C) Grand Twenty

(D) Glory of Twenty

e 7 FER we1 AR forii v
FTFT 3R HETHA” fr=fafaa 4
3 forg T Y GERR G I8 fF T ?
() fm@seE (B) IR JE

(C) T (D) Wellg

India’s largest inter-departmental
gram “Operation Kayakalp”
by the Government of

was launched
tates 7

which of the following s
(A) Himachal Pradesh
(B) Uttar Pradesh

(C) Gujarat

(D) Maharashtra

AN PETH TR PTR PITLTITE AN PITLHTITR TEN UL OF Vol SN WILN TRV 00N PWLH TS Vel

13.

14.

15. E

16.

YR § gy gt 1 fram e vEe
frefafiaa # & fre g sefaa fea
T YT 7

(A) HeTH TTF B

(B) . T iy

(C) wo affy

(D) ety

The idea of a nationwide GST in India
was first proposed by which of the

following ?

(A) The Kelkar Task Force
(B) C.Rangarajan Committee
(C) . Basel Committee

(D) Rekhi Committee

s &7 Preffaa § @ #N @ aEd o
v 35 ey s et e e H € 7
(A) HMER (B) HuTet

(C) M @) wgE

Which of the following neighbouring
countries of India does not share land
boundaries with India ?

(A) Myanmar (B) Nepal

(C) Bhutan (D) Maldives

iy R § FrefeRaa 3§ & fw 3@
CIRIERIEIE

(A) 9Tl (B) =

(C) S (D) ST

“Tokyo” is the capital of which of the
following countries of Asia ?

(A) Thailand (B) China

(& Japan (D) Bali

wge T IAfER R uie $fem
T T ?

(A) ®sHd (B) HIWRIS)

©) (D) IHM

The Grand Canyon located in th i

e
Sta_tes 0:2’ America was carved :){En‘gd
which of the following rivers ? .
(A) Hudson (B) Colorado
(C) Columbia (D) Yukon

SN PIL N T
NP AN POREATE PR SO IO TV A AON P STLA TP
Lo "R GO s
::m mrv-*
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17. ?ﬂﬁrﬁmﬁﬁﬂﬁﬁfmﬁﬁam%?
(A) E .

) fewemm (D) CUIEARCIS
The Narmada ‘falls in which of the

following ?
(A) The Arabian Sea
(B) The Pacific Ocean
(C) The Indian Ocean _
(D) The Bay of Bengal :
18, 3 it % A e St T A FS H
" feo 3 1 ToET e # ot Forde w9 A
sedAsmtEEl
(o) waE | (B) TEI
(C) =l (D) W
Name the songs which celebrate the
divine love of Radha and Krishna and
especially popular in Braj. :
(A) Khayal (B) Charkula
(C) Kajri (P Rasiya
19. & HaTer 3 Freferfea & & faent Icared
HQ 9@ Rl F gl & fag eare-
ot (Paat-Mitro) A AT I8 7
(4) E("E) (B) FE
(C) wm (D).
Ministry of Textiles has launched
“Paat-Mitro” application  to . facilitate
farmers producing which of the following ?
(A) Jute (B) Cotton_
(C) Silk (D) Wool

“erepr” Freferfiae # A fra 7w I T
IR el A1 B 7 i,

() foEm ®) e e
(©) fafeem (D) aifEm

“Thangka” is the most popular art form
of which of the following states ?

(A) Bihar _ (B) = West Bengal
(©) Sikkim Odisha

20.

21.

22.

23.

24.

LM T & 0 SR O Pl AN BT ¥ PO - " .
D H— PTREO T VA OO WL OV 000 oW on TV 0000 BT Pl PON BAII A B A RS AL TEPA e
L PAIILACN VR S\ e
TNV

‘De

frefafiga § @ fre 9fam & 7% I8

F Rrml (afdt) @t e fopan o st sa
GEEIRIR

(A) i Tt 9"

B). i 3= faer A THwe

Assl

(D) it T

Who among the following had designed

the borders of every page of the

Constitution and adorned 1t with art

ieces ?
A) Shri Nand Lal Bose _
B) Shri Prem Behari Narain Raizada

C) Shri Sayed Haider Raza
D) Shri Jamini Roy

a1 9 1, e 3 Frfafiaa § & fra 3w
3 after Hia o i fReedst

EIELS]
c) & (D) ﬁ-"aﬁmﬁ's
g(e:!:ently, ‘the statue of Tami poetband

philosopher Thiruvalluvar has been

unveiled at which of the following

countries of the world ?

(A) France (B) Brazil
(D) Switzerland

(B). i geHrEa g

(C) ft 3tz fargrdy Aot

(D) it e 3rrEarft

Who among the following was the Prime
Minister of India at the time of
onetisation of 2016 ? '

‘ Shri Narendra Modi

(B)" Shri Manmohan Singh

(C) Shri Atal Bihari Vajpayee

(D) Shri L.K. Advani

T T, T we F frefefaa § @
fora wmaes 1 9 ot 7

(A) (B) HEIIH

(C) w3« fgda (D) wharw
Prabhavati Gupta was the daughter of
which of the following rulers of the
Gupta Empire ?

(A) Kumargupta

(B) Samudragupta

(C) Chandragupta II

(D) Skandagupta
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25. Ut 2 1

i &, Freferiaa § &
(A) T3 FYeaael
(B) ETEhS e
(C) TS T

(D) Tt ,
which there is both the
he Government, is

An economy in

private sector and t
Inown as which of the following ?

(A) Outcrossed Economy
(B) Hybrid Economy

(C) Merged Economy
(D) Mixed Economy

26.

" Rabindranath Tagore had renounced his

“Knighthood”

~ and anger after _
Y4 events of Indian National M
;@8 The Jallianwala Bagh Massacre -

(B) A baton charge of police on Lala
Lajpat Rai :
~ (C) Partition of Bengal
(D) Komagata Maru Incident -
v, e et B & R w7
(A) HUTE I T -
(B) AL I
(C) HA-Yreid IcATGT '

“Blue Revolution” is related to which of
the following ? A

(A) Cotton Production

(B) Dairy Production

(C) Fisheries Production

(B} Water'Pollutiou _

which of the following
| Movement ?

PN PIMILN (T PN :
PR T K S PRI T P18 UL
Y :\W‘ FOM PO @ s
E HPTWEN TSV 0O P IIT
NTF VR S PO A T

and expressed his pain

31.

29,

30.

1)

(B) fesfiiam (Djgi

: DigiLock
Eg; 39T (UMANG) o
Wh11:1:'2:??1ﬂ ?ﬁm (EMO Tl
Dt & ¢ following application aims at
rog'd? mpowerment” of citizen’s b
goc::lm g]n% access to authentic d?gita}l(
Eﬁkallet? s to citizens digital document
A) Voter Helpline (BY Digi

_ DigiLock
(©) UMANG (D) PMO Tndia
%Igé’r_ﬁ,mm%ﬁm%aﬁﬁm
4 yog qui-aifersr A e H

I R T @ 7
(A) 74U

(Cy AT (D) EEFI%;I
Recently, first all-girls Sainik School has

been inaugurated at which of the
following district in Uttar Pradesh ?

A) Mathura
o N "Gl R
faferaa # & A9 3% ¥ RuPay Jedh W
T &1 el FIRE hise H1S i [T 8 7

L (A) AT §h
(B) . wﬂaﬁéﬁ% CGEIE)

(B) ©@IH

(D) FeHESIF |
Which of the following banks has
launched India’s first Corporate Credit

Card on RuPay network ?
(A), ICICI Ba

o e nk
- (B State Bank of India (SBI)

(C) Canara Bank
(D) IndusInd Bank :
e 4 & 9 7 e s &

(A) FARH T
(B) T SSes JaREmst el
(C) TN el

(D) X Fad <Ll .o
the following was the

Who among :
founder of Tata Steel Limited ?
(A) Sir Nowroji Tata )
(B) Sir Jamsetji Nusserwanjl Tata
(C) Sir Dorabji Tata
(D) Sir Naval Tata -

- S PEEATIOVS SN PRTLA T VA LS UL T e
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32.

mmmﬁ%m..zooﬁ% |

Y

e S B0 % R g [ T A ¥ B W v R
%) Pt 7 i T e & Pt e 3w s e
LIS G
(A4) w ®) %mmﬁﬁw,wmmﬁ%
© ®) | g
o e Sfflte government shall appoint how (&) Trm iy (B)  fret afye
. any "Collector” (not including assistant © ﬁ?ﬁﬁﬂm D
r additiona] collectors) as per The Uttar ; (D) forer BLLE
f:;de%l Revenue Code, 2006 9 Which Of- the following ;¢ Y
(C) T‘?: (B) Two Compr_Ehenswe and visionary initiatiye
Lhree (D) Four that aims to Cmpower women fi
33. Tdum § WREE 3w = 3 security and self-reliance in I:h Orssafety,
Tﬁﬁﬁﬁaﬁmﬁm}% ? Uttar Pradesh ? Rl of
Present what s (ne (A) Mission Shaktj
stre sanctioned g 1
R ot T Bt | ®) MisionVni
(A) 180 (B)- 974 (C) Mission Sunita
160 D) 150 (D) Mission Vaminj
3. RS B wm &
: 91¢ 3T 37. W
T TS P & oy T o o 4
(A) st i ey g T 614 T et 2 7
(B) - =t ooy Rz (A) ST ®) fr
(C) o2 © e (D) g
D) Hwd, foam The state border of(Uitar Prad
© among the followin radesh does
Chief Minister of the State Ef gattirt{;fa;im 1: ?:ltl tol}ch to the border of Which of the
after the Ir.ldcpendence of India ? o (3; w';'nlg -
(A) Shri Gobind Ballabh pyy © U"‘ angana  (B) Bihar
o - Shri Kalyan Singh tarakhand . (D) Haryana
Shri Yogj Adityanath
38. zfiqofy o
(D) ShriND. Tiwari - . oy W? T 0 < s 4
35. ‘amm w@y A % Prefiieg § | %%“éﬁ’i@'mﬁ@a%?
: q g IR 5 ‘
T/ R & R e b | ) “faen
fefereren farres (BHS) % 7 B) TR s
(A) %qﬁ?{ (B) ww=rg ©€) :ﬂﬁﬁl‘ﬁ:’{@ﬂ'{ A
(S} STEE (D) oy stk R (D) foiem sje
aya Tso’ is the first Biodiversit The hi i
; : I e highest .
Heritage Site (BHS) situated n whiclil(?;‘ Anamu%li thatpi{;als(ittllIl Sm'nhem- i i
the following States/UTs of India ? following mounta; s ol
(A) Himachal Pradesh - (A)  Velik B
: tkonda Range
(B) Ladakh (B)  Balagh
| ghat Range
(C) Uttarakhand (©) Nilgiri Range
ot S & Kashmie ) Vindhya Range
H_ HVITN O P A Ry Ve BN POULN CFVR 010 ’ : | i
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42.

43.

44.

45.

46.

47.

AN PECTN ST PN PPN TEF Vil AN DADTNTOF K 5Pk PUT N TP PR T PO ST PO PN TV & FENIIENTY
| i

7

et 3 8 9 w1 vreg e 2
(A) - (B) =
© D) o
RrefirRe i & i a1 v e 2 7
(A) T B) H@
(C) wrqet (D) ot

Frerrfen § 3 e w %
Roe R 318 7 RRLGL
(A) gﬁgﬂ,.ﬁw,
(B) , Herfer
(D) g, TgE™
e 3 o e % R oy
T e G R 7
(A) ﬁﬁmﬁw-m
(B) i g1 AT - S
(C) it eet 9 31T &1 - EHER
(D) e & 37 a - TN
gy f=mels V- frafe 3k
> o1 3furd 318 8
(A) forame e - forrar
(B) TAshmEa - wrgEm

~(C) Tg-wm

(D)ﬁET—ﬁiaTat%a.
ﬁﬁ%%ﬂﬁﬁamaﬁqmm

Hifore ;
A) . HITEAT foma |

I y :
i (D) o e Y A
?ﬁa%ﬁ@@ﬁ?mﬁmm
? _
(4) - (B) wf- sfam
©) _;‘%ﬁ_ E (D) @~ ﬂ'%zﬂ
Y I T TgAH T ENI 7
(A) Tx B) =4
©) =g D) ¥
al 3 7= H feEat § 1 Yeifed e i
I | B 8 7
(A) UCHHRE (B) &Y FEH
©) FUHRE (D) HIGH R -

49,

50.

S1.

2.

53.

54.

35,

et 3 3 T2,
A) ¥ 5
© = D) =
| ’wﬁm‘ﬁﬁ}i'w%?

(&) =+ fex (B) B+ dwr
© 4t + s (D) %4+ vax

W Ry ) R
© mﬁﬁ (D) wrEs fag

ST W1 & 2 a1 o 2 7
(A) TEIEE fsr

(B) arHTR firsw

(C) . ToraTa sy
(D) Ui fashy

= 4 @ v frn =1 sqE@ w9 @
g7 |

(A) THHT NN A TR |

(B) T A g @i |

(C) TEBAWR |

(D) FAT @I

! (NS POV TRV SRR T A TR AN e N e e
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59,

60. «

61.

62.

T 1 et

ATHITTS T
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STRCIR (1) g EoT

6. “T%mm#’rrrﬁém%qWHawi

%?‘éﬁﬁ% l’-ugam%‘qmm '

| 65.
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66. i

W PN PO NI
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68.

69.

70.

1.

72.

73.

e < ) e R ) 7
A fEos
o arﬁimafrﬁ
3
,EB?j’ CEE TR e
‘ﬁaaa’ﬁm%%aﬁﬁﬁuﬁm%?
(A gemerva (B) =Reiy |
(C) g (D) - ARrefiewor i
| o st Frferie 2 R 3 9
(A) wereshtami (g ?ﬁmﬁ.
© FTWEE (D) YhET
%aw%awﬁamgé%?
(A) Tt (g af%srg |
(©) wwpa (D) 39y
EH ﬂﬁwm%rﬂnmmﬁfhm-
?m*mwﬁﬁw%?

74.

75

Aoy
(=)

TTEITN 3 SR W S ) i @ @ 7
(A) vt =1 o

B) T 2 Wyt sy

(O~ Tom o Wiom =y

(D) U™ T 3= @A

HTaTEH S-S

Eg BHES g
(C) uRETET= - Ryst
(D) ferar=es T fdryor
ﬁw%%aﬁé‘qg’mwwhwm
FA AR ¢ 3
(A) Hiua
C) wygm (D) & .
e fivmefss wee-qm g 1w
I Pefefea f a s 2
(A) 5@ -3snft (B) i - R

- (C) IR -fmm (D) fmw - e
“IATEl & TR S % o SR
o8 Tl wree 1 BN 7
(A) Ty w)ﬁﬂﬂ_
©) % (D) STE9d:

77‘

81.

82.

78.

79.

80.

"If T 851 be divided

of pairs which have

15 as their HCF 4
we can

(A)

nd 138 ag
defmitely say that
N0 such pair exjsts.

only one sych pair exists,
only two such pairs exist,
many such pairs exist.

W ES1H 112 93, 3/4 % 19T 1 g
'mﬁﬁﬁ&n&a%mﬁ'rq,aﬁmwm%:

into three parts,
Proportional to 1/2 : /3 : 3/4, then the
first part {s :
(A) 896 (B) 222 (C) 333 (D) 396
wﬁﬂ%m%w-w% Sk
n%aﬂtsa%mﬂwa‘rhﬁé 25%

their LCM,

0% of people died due to cholem_iq a
\lrillsfge ar;:d cll)ue to that 25% of I'em{umq
people left the village. The population is
then reduced to 202_5. Fn:lc: toyﬁl number of

le originally living in the vi age.
pﬁp 1500 §B§ 2000
EC] 2500 D) 3000

R SR AL ATV R My PORLATO VL AN LT e,
TRFT S SO PIREA T R
W PSS TN O PO A T T CANP ST A TS
: - ot
3 PRI S, TLE WA SR S
Y YA S0 UL
AN RPN
- FELATF
SN TR P

9
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84,

85.

86. .

87.

AA) 66

33 MR et 3y
2] Fﬁ'ﬁft‘mmaﬁm%ﬁ%ﬁ

By selling 33 metres of cloth, one

¢ selling price of 11 metres, Fin§ams

%ain ercent, B
A) 20% (B) 25% (C) 50% (D) 659
T Tl =1 3 T WA W
Y | 1T 2% arfre
awrr@rwém,a‘ruzo aqﬁmmgq
| T e iR | .
A sum wag put at simple interest at 5

certain rate for 3 years. Had it j
_ ‘ears, een
9 i igher rate, “j would hay fohed

+20 more. Find th
() 26,000 EEE"m 27,000
C D% 2 2,000

% 7,500
P, Q 3K R woir 7 20,000 1 Py e
Wwwwﬁgwqﬁ%mpﬁ
1 Q
Hfafia

% 5,000 fyerrey 3 4,000 fresray
R ¥ % 6,000 3 [EENRCTN mﬁ

A %m%w,%oaé%mnm | P
1 T s -

Hifr |

P, Q and R starteq 4 business each
Investing ¥ 20,000. After 5 months, P

withdrew ¥ 5,000, Q withdrew ¥ 4,000
and R invested 7 6,000 more. At the end

of the year, a tota] profit of ¥ 34,950 was
recorded. Find the share of P, ' :

(A) 210,600 (B) 10250
(€) 14100 (D) 710800 .
11 qRom =1 sftge 7
RO *1 3fEd 51 2 ek 3fem o7 =
aﬂms9%,a’tw’:r&unqmﬁ| '
The average of 11 results is 50, If the
average of first six results is 51 and that of
the last six is 59, then find the sixth result,
(B) 8 (C) 110 (D) 107
e IR IR 3T - 370 1 :
Th 1 I FAW: 9 3R 12 At § o o
Hhd & | v ¥ IR w06 9 ¥ w7h-
T ¥ -1 {7 wE w0 € @ v
Teram Tt o g gt smam 2

-Diptesh and Tushar working separately

can do a piece of work in 9 and 12 days
respectively. If they work for a day
alternately, Diptesh bt_elglgmng, 1:1 h?,:?.
many days, the work will be comp eted
(A) }i{) (B) 41/4(C) 11 (D) 43/4

50 ® | 9f¢ gt mE

H g |-

" - PE T T e - Ty
. X AU PSTLHTA PR e peWTTeN TPV FEh
RN PN D Vel PE OIS TFV R '

DH-1
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89,

90.

91.

88. SIHA 14, 10, 6, 2, .

| ..Wmaﬁqgm |

Find the 14t

14, 10, 6,2 S€quence

38 (© -0 (D) -46

@awemm:ﬂﬁﬁ
TR mﬁ;@aﬁmﬁaﬁ:ﬁm
T(d 100 m & IR 7 333.18 R, 3oy
AR 3T Hifre |
gular field i three timeg

The base of trian
its altitude. If the cost of Cultivating the
100 m? be 7 333.18,

field at T 24,63 per
find its base,

(A) 30m (B) 60 m(C) 90 m (D) 110 m

aﬁﬁmzo%ﬁ/ﬁaﬁnﬁﬁé\sm%,mﬂ
500 N A1 70 7 et 3 et Rt ey ¢

How many minutes does Vandan take to
cover a distance of 500 m, if he runs at a
speed of 20 km/hr ?

A) 1 B)125(0) 1.5 ) 175

T E. 91895 Frerffea Ya s 200;
ﬁzomaﬁraaaﬁr%m%aﬁm:ﬁm
ST 6t AR R 39 F @ Pt
AT <1 I GRaT R -

Q. Nos. 91 to 95 : The following line
graph gives the ratio of the amount of
imports by a company to the amount of

eXports from that company over the
period from 2001 to 2007 -

UGB L LI I FRR p——
Frafe & wer e s

Ratio of amount of Imports to Exports bya

' Company over the Years
2
o

1.6

.l

15
2
1 03 e s

0.6
05 - /\\9}/

2001 2002 2003 2004 2005 2006 2007
¥ / Year

o o 2 et % Frarfar 3 s o s
=W T ?

The imports  were  minimum
proportioqat::h to the exports of the
company in the year

e : (B) 2003

2
(A) 200 (o

(C) 2004
FANL ATV S0 AT L SIS LA TR NP SREATRPR O WL e
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92. ﬁqmeﬁﬁ#ﬁmaﬂﬁﬁuﬁ.mﬂ 97, Rymy R i, afy & .
In how many Of the giyen ycars were thc :;'f[f‘n 8' g }EF" me_ :}ﬂ’( HTAT ﬁ’
exports mczlée)tgan tlze imports ? WT"? 3 a :ﬂggh'af i &) wo
(A) 1 03 (D)4 g g 7

i I ! . N
93, dfy 2002 H FTH F Irma T 260 i I;olc:}:f)r%“fgcnuggmc’ if Triangle represents
33 Cirel quarc represents Lawyer and
o, Y 2002 941 1 fafa o . thlcrc 1;1 urcpbrcscnl? Liﬁcratc, then what is
If the imports of the company in 2002 mber of those Doctors and
were T 260 crores, the exports from the Lawyers who are Literate 7
company in 2002 were
(A) T360FUS / T 360 crores
® % 325 HUS / T 325 crores s LE
) T 310 U / T 310 crores
(D) ¥275%0g /T 275 crores W3 ®5 ©6 s

94, 2003 & 2004 T AT | fohei Afowra it | gq TR 4 1 30 R, 40 e,
e ? _ . w1 weE g o WA @
What was the percentage Increase iIn :
imports from 2003 to 2004 ? 18+6+7x5-2=7
(A) 56 If *+* stands for division, “+’ stands for
(B) 67 multiplication, ‘x” stands for subtraction
(C) 82 . ; and ‘-’ stands for addition, then
(D) @mﬁmatalnadcquate _ 184+6+Tx5-2=19

95, aft 2004 ¥ AW T 240 FS I T | (A) 16 (B)18 ()20 (D)2

2004 31 2005 # e He Al T 500 | S
e o, d 2005 H ST T:h?s 99. z;:?ﬁﬂﬁfrﬁmﬁr(x)ﬁm
(A) T200%08 (B) T 250 K T |
2 ) Taows (D) I 450 Choose the correct mirror image of the
;  If the imports in 2004 were T 240 crores given figure (X) from amongst the four
and the total exports in tI%e gfggrs 2004 alternatives.
and 2005 together were crores, _
then the imports in 2005 were “ ” U_l ‘_U II
(A) 200 crores (B) T 250 crores (@) @ 0@ V|0
(C) T420crores (D) 450 crores X) o @ 06 0

% THAEFRARTAEI | AO BO OO O
%Wmm' TR R 00, frfofea e #, w weg R mn R,
Choos,e the \’/énn diagram which best mmwmmmé,ﬁﬁﬂwﬁq

. e e T T 168 & &R T ITANT HH T T
explains relationship among given items : A
Animals, Vegetables, Potatoes \ A 8 | 78 9= !
’ : ’ In the following question, one word is
' o0 O given, followed by four words, one of
(A) (B) o O which cannot be formed using the letters
' : ; of the given word. Find that word.
s @ RECOMMENDATION
©) O ® (A) MEDICINE (B) MEDIATE
- (C) MONITOR (D) COMMON

PR P PRI TR P, £ hTE Aoy P 51500 T = .
i it ol PIEEAE VL ATV SANPEOIIN TR OEN PN OB R AON PETHN T VR R PUTTA T P SR P T VA QR BT VR S POWIHN TR
DH-1
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101.

102.

103.

104

105.

106.

DH-1

3T T I | Q7S & e F g
I T HNh &Y t@aﬁmsﬁma&m?
Which one set of letters  when

sequentially placed at the £aps in the
given letter series shall complete jt 9

_CB_CA_BACB_CA BAC D

(A) ADDBBB  (B) ADDDDR
(C) BDDDDB (D) BBBDDD
fe e fasvedl 3 & 78 Wl frwer 33

fg@wﬁw HUT ;

hoose the correct alternat
ones that will complete the
12,23, 34, 45, 56, (7)

(A) 67 (B) 69 © 7

LU 1 ST (7)

(A) % (B) Hieefiom
(©) 3w D) =
Melt : Liquid :: Freeze (D

(A) Ice (B) Oxygen
(C) Solid (D) Pressure

ive from given
series ;

(D) 78

+ DBMS : SMBD : : JAVA : (9)

S A B

e atrpfer 3 frey ot 8

How many squares are there in the
following figure 2

@A) 12 Q-(B) 13 (©14 D) 16

Th S B F IE T R 3R 10 et

R Y R Torr B, FR o gea 2 sk

7 fepeft <ot &, R0 2 o e & 3k 14 |

fepelt =reram R, R0 wpear 2 3t 4 R
el B 3R 3 § 91 gan @ o 4 et
W%I%,wﬁmﬁmﬁm@m

?7

A) 10fsdft . B) 11fHH

(C) 14 fwft (D) 17 femelt |
A person starts from home and moves
towards west by 10 km, then turns right
and moves by 7 km, again turns right and
moves by 14 km, then turns left and
moves by 4 km and at last turns left and
moves by 4 km. Hg?w far the person is
from home position ?

(A) 10km (B) 11km

(C) 14km (D) 17km

o PO P PO BTN T P 0 PN TR P N P00 TV DN TN g
2 G FRILAH TP P AN PSTLHTS
| O PSIIN TSR 6N

@qﬁéaﬁaﬁ»‘gﬁ;ﬂmm&q

L 78 | 7§ FUSTR

O Al 3 g B | ol

L. |78 Frraitat % e ey

m%aﬂtmmsxﬁ@q

TS ST £ | n

1. 98] | 98 =Afeaat ftrepmt
HiegR| =

IV. & | 399 Ieshar s |
(A) Faet 1 3 I wrem & |

- (B) arq'mlaﬁuunaqa%y

(C) ad I Aieq 2 |
(D)  %ae [V Hogd & |
Question given below consists of a
statement, followed by four arguments
numbered I, II, III and IV. You have to

“decide which of the argument(s) is/are

‘strong’ argument(s) and which 1s/are
‘weak’ argument(s) and accordingly
choose your answer from the alternatives
given below the question
Statement Should people with
ecducational qualification higher
" than the optimum requirements be
debarred from seeking jobs ?
Arguments : A

L. No. It will further aggravate the
~ problem of educated unemployment.
IL.

Yes. It creates complexes among

employees and affects the work
adversely,

I No. This goes against the basic
rights of the individuals.

IV. Yes. This  will
productivity.

(A) OnlyIandII are strong,

(B) Only II and I1I are strong.

(C) Onlylllis strong,

(D) OnlyIVis strong.

increase

%
PENPEIT AN TEY L FDN PRI TR P BN B PEE S TP CAONPOTERTEYR

o ey

e ——————— R —
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I o+t 5=
Feel YoM I 3
Fae UToT 11 Safifed 8 |

1 137 1 SiaHfEa 8 |

13 AR 1 AR 2 |

tion below a statement
followed by two assumptions numbered I
and II is given. You have to consider the
statement and the following assumptions
and decide which of the assumption/s

is/are implicit in the statement.
“If you trouble me, I will slap

Statement :
you,” - A mother warns her child.

Assumptions : .
I, With the warning, the child may

stop troubling her.
All children are basically naughty.

Only assumption I is implicit.
Only assumption II is implicit.
Either I or II is implicit.
Neither I nor II is implicit.

T. H. 109ﬁ113:ﬁ%m:ﬁwﬁ%«r@ﬁmﬂﬁ
7% 3 T & I G
* RefrRea =g (G) IR wles

(A)
(B)
©
(D) A4l
In the ques

IL
(A)
(B)
©)
(D)

Th

6 Hﬁgﬁﬁﬁiﬁ'zﬁ
o A &

wmmw%wﬁgﬁg
STt 8 3R R Iudiry fem wmg e em # |
7. fordht afgen sl & ame 4, aft 39 2
a1 e g A §, A foy foem %
gﬁﬁ,wﬁﬁﬁwaﬁmmﬁ%%ﬁ
Frciferes A 3 & 5 wig fed I E |
s et 1 Frefofea s e d aftid
et W Ht 3R 97 w5 A= G

|3fR/=1 PF & ferw urr g a1 =& |
Q. Nos. 109 to 113 : Directions : Read the

following information carefully and answer the

questions : i

A company has following Gratuity (G) and

Provident Fund (PF) rules: :

1.  An employee must have completed one.
year’s service to be eligible for either G

or PF.
An employee resigning or terminated or
retiring after ten years’ service gets both

- GandPF. .
3. An employee terminated or retiring after
five years but before 10 years’ service
gets both G and PF, but that resigning
during this period gets either G or PF.

An employee terminated or retiring
before 5 years’ service gets PF but not G;
but that resigning during this period gets
neither G nor PF. '
However, _
5. in case an employee dies after 2 years’
service, his family gets both G and PF.
in case an employee was on leave
without pay; such period is deducted
from his total years of service and then
- above rules are applied.

7. in the case of a lady employee, if she has
completed 2 years’ service, two years are
added to her actual service before
applying the above rules, as a special
consideration.

Apply the above rules to the cases described in
each of the following questions and decide
whether the employee is eligible for G and/or

6.

PF or not.

AU S PR AT T T P O T s 3
£ E o PO P TN (O WS TIF Vol SO PRTT AT TR SO POWE SF e (0 ol N T P o :
WTF PR e P o TP RO LA T P UK PRI A CN
AN PO T Y
DH-1
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110.

111.

(D) 3R G 3t PF 2t Ry e |

Mr. Ashok was terminated from service
after ten years. :

(A) if only G can be given. .
(B) if only PF can be given. .
(C) ifeither G or PF can be given.

(D) ifboth G and PF can be given,

Maﬁﬁ%ﬁﬁwaﬁwﬁmm

A1 3R i 2 foe | »

(A) IR FTaGRAMEwd L |

(B) 3¢ %aet PF fear smaeran 2 |

(©) 3 G = PF & & #1 @ R T
qHaTR | - |

(D) R G 3 PR oW o § |

Mrs. Verma served the company for four
years and resigned. '

(A) ifonly G can be given.

(B) if only PF can be given. .

(C) ifeither G or PF can be given.

(D) ifboth G and PF can be given.

113,

(A) ‘Tﬁmﬁamm%r
(B) ﬂﬁ%ﬁPFﬁfmmmtr

©) =feaa G 1 wHeht & 3tk 3 pp
- ST HEAT R |

(D) ﬂﬁGmPFﬁ%aﬁgr{mﬁmm
THar g |

Akshay worked for the Company for

(A) if oﬁly G can be given,

(B) if only PF can be given,
(© ifneither G nor PF can be given.
(D) ifeither G or PF can be given.

A 2 S e s
m,wmﬁimaﬁ%ﬁm,ag
HTHW | off ARTHR, 3]

| ﬂw&@lfﬁmﬁﬂrw1

(A) ﬂfa%aa(}_amm%_l
(B) Hﬁiﬁawﬁmmmit

(©) H&Gmwﬁéﬁé@&mm
THATR |

(D) aﬁaaﬂw}?aﬁﬁqmmil

., Mrs. Deval worked at the company for

three years. However, during 3/2 years of
that time, she was on unpaid leave,
Eventually, she was terminated from the

job.

(A) ifonly G can be given. E&Q‘
(B) if only PF can be given. -
(C) ifeither G or PF can be given.
(D) if both G and PF can be given.

SN POUEN TR
X OO OO TRV A (AN P ST TP
U A PEN POMILA T P AN PrT T v CEN POV TSV TN P I N TP PANPOTINTE VA AN *
- v PRTLNTEF
PON PETTN TEFL PO P RO TS

DH-1
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114. 379 T g st 3 =g & a9 &
T TR X T Arenfenr A8 HY T

aeill % "y ¥ wg W I A

Reprad 1 | FTT F AR, DI

(A) TETRTT 6l Tore wraTd g¢ A bt
TSRAGS HTT TR |

©) e i s s

S0 | R

(C) HIeR EE! 30 & JAUR T IR

1 FPRER T =0T |
raT-Frar Y T 9 & TR A

(D)

) T A =M |
You are stationed as a police officer; a
woman reports phone harassment of her
minor daughter’s intimate photos. As per

law, you should :

(A) Ignore the cas
the minor.

(B) Caution the minor’s’

file statutory charges.
d based on caller

e attributing fault to

(C) Arrest the accuse
ID traces.
(D) Advise parents to counsel their
daughter. , =
115, 39 & g s % w9 # & 8
Trerer Hifear frre @, T 1 STt
@ gQ IR Toifasd ot &Y AT
=7 a7 I € | ST '
() R dva e W= % R

ST ] FRIR 1 T |
@) Imw ylowel gug & feg
AT 1 STEA FAT IR |
(C) Soe dara & el e #

D)
F oA B AL |

You are stationed as a police officer;

social media monitoring reveals plans for

unauthorized political rally violating

prohibitory orders. You should:

(A) Arrest organizers for subversive
social media posts.

(B) Engage organizers to explain order
restrictions.

(C) Request temporary suspension of
internet services.

(D) Deploy forces to firmly deny entry

points.

parents and.

116. @m-yaur 87 # RIE wqa % ®wu A,
iR TEMTE A, T e, s
(A) awifea aqzferdi Y e difzm
wreerzer Y Frrf wef =nfE |

mﬁ%wiﬁmaﬁmm

(B)
%{Qﬁwﬁmﬂﬂfzﬁvﬁmﬁm
frau

ST =1feT |
As station head in a riot-prone area, to
uphold communal harmony, you should :
(A) Monitor social media profile of
potential troublemakers. .
(B) Make preventive arrests to avoid
breach of peace attempts.
(C) Impose prohibition orders on
dangerous weapons’ possession.
(D) Arrange talk for inter-faith
confidence building measures.

117, 3Tq T g AT % w9 3@ g5
" Sreft 3-hrad JeaTe TS <l gEE

T 91ET | |
u@gﬁﬁuﬁwaﬁﬁaﬁﬁ;mﬁ

5} 35 T, ST
(A)

B) |
uferehet et S <hl 3hg1 T 1TET |
(©) e P Figed HE =feT A fam
7 aRe % ka1 d% @rdl
fergaryor ST =1feT |
(D) et ST ATTTE Wt Uided
| 3 A W wfEy o =R |
You are stationed as a police officer; to
identify fake e-commerce website
scammers, you should : :
(A) Monitor online purchases of all
citizens in the region.
(B) Assemble ethical hacker teams to
trace site registrations.

(C) Hire hackers and analyze vendor
bank accounts without search
warrants.

(D) Ban all unauthorized online

shopping portals and apps.

y Ay R e TS o TR P ek B, .
F PSR RIS o AR TN T Vil PO PO N CF PR ST PSMTT LS ¥l BN BTN A A T b L1 AU P TEVR 0y
= w ATIOVN OO POWEN TR
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118.

119 O e A B ; O fafia smenfave

120. 379 T I WG TS 0 Pl §
amﬂﬂﬂﬁwmﬁ%m%mﬁaﬂtﬂﬂ S wied arr Mg J e § |
ST T TR 37 Tl o 1w armefiate i e d ul & 57 g & e 3 |
3 o ) THT A §L R B 7 g gh, A 4 T F o s
ﬁma}aﬁmmg Eﬁw%%amai‘r el A H wEiaRa w2
(A) THEH & w0 Jar a0 FATH e Geart 3 iR 3 iy

3RS T | HEwTaT ' wE @ v B @
N ﬁmﬁﬂ'@a”iﬁq N | YT &7t R Fp
2 | TR FHq PBIACHE 79 2 | 377
(C) = w9 & RfSrra 1 ey % i (&) 'Imiiﬁ' I Sﬁ. ﬁ'q'la;‘ I
T T 5 T Y R W el iR | T s i
(D) WS N ST F gw AT Y @ @ %
. Eq%rlml?\‘llﬁ A e T 3 3wt & |
~ You are an_Investigatin Officer; BIIChE war h{H] ETI|3Q
celebrated spiritual leader gis implicrateg ®) :ﬁ%q%w %l POt @ fraed
in a sexual abuse scandal ang requests M Nk 8 %
quashing - of legal complaints ~ filed fore ar et st I 61 971
offering” blessings and funds for good FHT1 TRy
causes backed by you, You should ; ~ . hady | =S icon HET =AY
Fargigllyt 'als(siist the leader in ©) Hfa ! R
Imiting tria amage. HAWY IMET 3?[‘5? q I qqeh aﬂl‘
(B) Commit to im artially i igati T T:IT%Q
as per procedu?e. 4 mve_snga-tmg T T 1 ST l
© Prom:lse. maction 1ega11y but aid (D) :ﬁﬁv&aﬁqﬁmﬂmmaﬁqaﬁ
secretly in access to victim, - | YUY I LIt
(D) Personally conduct i b Hﬂ@m' T ??‘—"ﬁ%q

_ violating standard normg.r PeeRuten T 3 : it wel :

119. IS Hzwy ¥ et . You are an inspector in a crime branch
i, X R F unit that deals with organized crimes and
(A) TRfra N =y x gangs. You have been working in this

| N =y T - unit for the past three years. However,
% .5_@_{' Faﬁi w4 3II§E hL due to a policy change, you are
B) W fwdiw Pl FTfRT trasisferred to a women’s cell where you
il ﬁs b ‘F@I 2 |5W~T.Uf m@li? i EIE": have to deal with cases related to
© SHerd g ﬁ"ﬁ e \faro:nen’s safety and empowerment, You
EllaiS[IitRlﬂ; E[.ﬂ.é“" ee thz_at this is a Jess challenging and
ik ”: SERLEES I rewarding work. You should:

D) e frwrm 3 o fey o0 (A) Challenge the policy change and
; . §ﬁ I Ry | argue that your skills ang

When investigating online radicalization experience are better suited for the

cases, you should - - crime branch unit,

/ cf:{c as undercover agent posting (B) Accept the policy change and use
:-Iés;clarrlgéastory Posts fo atfract your skills and experience to deal

(B} Qb s approval  for with the cases in the women’s cell,
psychometric analytics to be run o (©)  Accept the policy change and try to

such subjects. ™ ' maintain  your contacts and

©) Er}iliareets ggng?f'_:lé,n hu“V"iriﬁt?d involvement in the crime branch unit.
U&EI)C vigibincs: 1al channels for (D)  Accept the policy change and look

(D)  Use specialized forensic counsellor for ways to get back to the crime

insights for pattern analysis. branch unit as soon as possible.
B‘i’f -(:s.i-‘rc.ve PONPILATIFL AON P EULNTI VN s, WA T P Sy pe W B FRNPATLN DIV o0 P ST TV s, P T

A N BTN TV AR T TV A ORI N v
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maﬁmwﬁwaﬂﬂﬁﬁﬁﬂfﬂ
mmsﬁam‘aﬂﬁ;mnﬂh
wﬁmém%ﬁn%%qnﬂﬂ

@Wmmﬁql g o
D) THH ¥ ¥ =me dn ¥ g
ﬂ?reﬂmﬁammﬁq._

A national security priority manhunt
enters climax when your spouse meets a

serious accident requiring surgery. You |

should :
(A) Delay informing family to avoid
distraction.
(B) Take brief leave deputing
operational coordination.
(C) Handover full charge to deputy for
family priority.
(D) Strategically allocate expertise
o areas among wider team.
122, @WW%Wﬁ s et §

Anapm (T

(©) 7w R N B aR I R
p m%mmmwmwﬁ

Hrg'c{rﬁ‘m" Jsit A W B g

JFae- e T TEw HT I

T =T |

As a police officer, minorities in your

district report experiencing religious hate

crimes. You should: |

(A) Online profile surveillance on
radical ideological groups.

Fast-track prosecutions announcing

exemplary sentences.

Implement district cyber patrolling

to mass report hate posts.

Organize inter-faith peace initiatives

involving commumty leaders

)

(B)
©)
(D)

_ oG SN TIEFN FANHORTN NI R

123. & qferd fumid % wy

124.

ST 3 s o o

I A Frdeere WA Tefam o) farerrrs

%@ﬁ% | 3TT9%h! ;

(A) SFE F QT FQ g At
Rreprara wfif &1 a7 e =nfiw |

(B) &3 T W T warcefierar whiem
q”fng-r EFLET{TH a7fE |

(C) wwrs st | anfer it 3
TN <! T HTAT =1 |

(D) miroraran G et ge wmredt

st Tift 1 Hehia wem v |

As a police officer, you notice workplace

sexual harassment complaints from

women  constables against senior

officers. You should :

(A) Setup internal complaints
committee promising action.

(B) Implement mass gender sensitivity
training modules.

(C) Enforce transfers of implicated

- personnel from command roles.
(D) Refer cases to external agencies
- ensuring confidentiality.

& gfer srferemrt & w0, # frafofed

BRI SRS T HATTTH Weu T Fehal 5

(A) T e e & fvad Wewr 3 |

(B) WexiFehIieal ! aw # F1 % fore ot
T | -

(C) Al Tl 6t FeeT T |

(D) i@l W 3o s ged
- R |

As a police officer, I can best
demonstrate. patriotism by :
(A) Accepting bribes from law
breakers.
(B) Using force to subdue protesters.
(C) Safeguarding democratic
institutions.
(D) Imposing my religious values on
- citizens.
DH-1
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ice officer, you are required tg
ﬁ:d:rgglgeﬁodic training and evaluatjon
to enhance your skills and knowledge,
'Which of the following 18 the name of
the institution that provides training tq
the Indian Police Service Oﬁcers - SR
(A) National Police Academy
(B) National Defence Academy
(C) National Security Guard Academy
(D) National Forensic Science Academy

T Sfera stfett % &9 §, 3 v &

SRS el
HEH S 3
mﬁﬁm’mwaﬁw?

126.

gg n? police officer, you get a panic call
Tobbe ab Mmanager about an armed
Stiis dal;y dm Progress with hostages. As per
th Operating procedures, which of

ese should be your immediate response ?
A) Rush to the crime scene directly
Without back-up
Inform and coordinate with other
Cmergency services
Set-up perimeter checkpoints to
1solate the area . '
Use social media to gather public

(B)
©
(D)

129,

(130.

- information

P

131.

“SX:!;FS.X, a; C T '__:.._

SafeRt v fRufdy & et 2 7
(A) 2 Tt (B) 11 f&ft
(C) 13 forrft (D) 16 farft

A person moves in north direction by
7 km, then turns left and moves by 4 km,
again turns left and moves by 9 km,
again turns ieft and moves by 4 km. How
far the person is from initial position ?
(A) 2km (B) Ilkm

(C) 13km (D) 16km

I : : - : ATV S PO ATV
P rere TN PRTLA TS Vel AN PETEN TP RO TS T ¥ AL P o 6 P 15 WS TSV CERNPSCTHOI YA FANPSITATIIN SN PR EATIVA AN PSUTA TV a
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133.

(D) ﬁvmaq-aﬁmmm,

Rahl..ll and Robip are brothers. Pramod ig

ais Pramod’s sister,

Pramoq’s niece,

Prema’s daughter, Hg
to Shubha 2

(A) Brother

(B) Cousin

(©) Materna] Uncle

(D) Can’tbe determined
R ¥ “LINnGUIsT
B3 A B iH
TG % SR 3% d1e are gy
HeRt § S fear s, @ i e 3
(SIS STt sfiren % srgem) # 7

If first, third and sixth letters of the word
“LINGUIST” are changed to

W is Rahul related

English alphabet series and fourth and
seventh letters are changed to their

immediately succeeding letters as per -

English alphabet series, then how many
letters are there between the third and
fifth letter of. the newly fo__rme(.l _‘.wor'd
(according to English alphabet series) ?
(A) 6 ®) 7

) 8 (D) 9

their-
~ immediately preceding letters as per

135,

. the question given

136,

180°

5= T 1 e 5y R A R m
T B IS .
Study the followin

g figure ang answer
below :

Q —> Tt wim !/ Employed people

O

How many backwarg
educated ?

Aa) s
© 22

beople are not
B) 17
D) 12
ﬁ?%rf@aﬁ'ﬁaﬁqmaﬁaaga,
q&%ﬁaéﬁuﬁmﬁwmﬁ
37

Which of the following diagrams best
indicates the relation between Sea, Earth,

Sun ?
O

(A) (B) O O
(C) ©O (D)

M’
Tt

s ATV R S L ATV
. < T N IR TV AR PR
o K PEWILNTIT Pl 0N POVEN TR TN P SUT AT FA S0 PO TS
oy e
o O PO U TS P
T F R U P o T
N PIIN CHVR SO PRTL
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139.

_faces-,measuring 6 cm x 4 cm are

- .into 6 equal cubes of side 1 cm (from 6
~ om side), 4 equal cubes of side | cm

-0n two sides and.rest of the sides having

- no colour ? , ,
(A) 4 (B) 8
(©) 10 D) 12

then who among them is youngest 9
(A) G (B) K
© R D) A

ﬁﬂww%mﬁmmxﬁ,
ST 4 SR dnd 1 202 | 4 dnf ;2
maﬁawmﬁﬂ@w% |
6@ﬁx1@rd?qma1éa’rmaraﬁﬁ

ﬁW‘?lﬁﬁtﬂx4ﬁtﬁmaﬁam |

GEUR: RO R E | ST St (6 Brft o oy
IR F) Iﬁuﬂgmmésmmﬁ,
(4 ft o < 3k @) A Yo Ay 4
S E | fnfom fear |

@mﬁmﬁﬁmﬁmmh%aﬁt
AT At B B TR 7 Ry
A cuboid shaped wooden block has 6 cm
length, 4 cm breadth and | cm height.
Two faces measuring 4 cm x 1 cm are

coloured in black. Two faces measuring
6 cm x 1 cm are coloured in red. Two

coloured in green. The block is divided

(from 4 cm side). o
How many cubes will have green colour

- eI % 4"!: AR
- FTEEAR |
39, 37 fRaferi w fimm W T,

A health-conscious individual jg
‘remember the hotline numt
“recently

1. The phone number starts wit
2. The phone number ends with |
3. The fourth digit is either 2,40

ChLEG 9
. T JE 987 & IR
2. W AR 652 T
3. S 3% @ g

‘established
consultation  service, He reme
following points:

and not repeated in the digit of
numbers, _
4. The fifth digit is the product of the
~ last digit and the fourth digit.
Now, considering these conditions, the
individual has narrowed down four
potential phone numbers for the nutrition
consultation service. Find the suitable
one. ,
(A) 98762652  (B) 98748652 ,
(C) . 98724652 (D) 98764652
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£
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it Q) e fru g § | s He
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ﬁwﬁm@mﬁaﬂm%ﬁ?w
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g /A R/ |
W:Wm@mﬂww
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Sy & 3T € e SR E |
forsd
L R e # fdes S i
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i _
s % A % TEe #
e e o Ho HAT € |
St Frend [ STHE0T H R |
et frsend 11 STET HT R |
(©) 13RI FTEAFALZN
(@) AT T HF@R |
In the question below a statement followed
by two conclusions numbered I and II is
given. You have to assume everything in
the statement to be true, then consider the
two conclusions together and decide which
of them logically follows beyond a
reasonable doubt from the information
given in the statement, - :
Statement : The interview panel may
select a .candidate who neither
possesses the desired qualifications
nor the values and attributes.
Conclusions :
I.  The inclusion of specialists on the
interview panel does not guarantee
that the selection will be proper.
The interview test has certain
limitations in the matter of
selection of candidates.
Only conclusion I follows.
Only conclusion II follows.

Both I and I1 follow.
Neither I nor Il follows.

II.

(A)
(B)

IL.

(A)
(B)
(€)
(D)

143, a8 faed TX M fy

144.

145.

m’\‘ﬁ\‘r-\,ﬁ.
ﬁﬁﬁmmhmﬁ\ s

ternati : .
Choose the al : 'Wt:: Which is r.\()q.g\y
resembles the Mirror image of the giyen

combination.

FIXING

(A) GNIXIF  (B) OUIXIF
© 1xmo D) DUIXTT
wmﬁ%mﬂfﬁ(}{)ﬁﬁqmgﬁ%

(1), (2), (3) 3T (4) F ¥ w1 o A

SIS ST HPAT R |

Find out which of the figures (1), (2), (3)
and t4) can be formed from the pieces

given in figure (X)-

[

/A

D D

X) an @ 6 @
A @ B) ()
© O D) @
< feredt fl‘ a ﬁwﬁﬁs qResft 3fie =t

fifger Y@1 W dist W e Har fewd
< |

Find out from amongst the four
alternatives as to how the pattern would
appear when the transparent sheet is
folded at the dotted line.

Pl

() () @ @ )
Aa) ) B) 2

) (3 (D) (4)

-l A ——
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. (A) Hrar

147.

. Which of the following option would be

DH.T

THAT FET 8 JRS, X HIAWIR I T, R QA
Trd TR wEfa R 7

(B) ot

(C) =& (D) Wi

X and Y are brothers. R is the father of
Y. T is only sister of S and S is maternal
uncle of X. How is T related to R ?

(A) Mothq ) (B) Wife

(C) Sister (D) Brother
frfefEs 3 & #19 w1 e 9 R o
I&51 T TR HY B 7 ,

1. . R, oo ST

c ama; . 4. fEr

S, W |

meaningful order of the following words ?

1. Infant 2. 0Oud : _
3. Adult ; 4. Adolescent
5. Child SR T
(A5, 4037271 (BY '3/4-aF] 5

©) 1,54,3,2 (D) 2,3,4,5,1

14.18. ﬁ'a@ﬁrgﬁsﬁm%ﬁf—‘—rél

Choose the figure which is _different

from the rest. .
D @ @ @ 6
@A) () |
B) ()
© e ® @

E PRy,
TN Ty .
M%‘

| 150.

2 | 39 UE T 3 WiNE % fou feay
fen sl 1 3w e o 7

There are 8 members in a friends group
who greet each other on the Deepawali
day by sending cards. How many
greeting cards will be used for this

purpose by this group ?

(A) 50

(B) 56 .

© 60

2 G

'Qa:am:ﬁs%ii,'zl%ﬁﬁaﬁ(zﬂ'cﬂﬁﬁ%

% 12,900 sl & 1 AR R 4 @
| o T s e 2, 3

TRH ¥ H TF W F 9 T

foreran 8, 2 ol 38 9t R Prern 2 7

" A'man divides T 12,900 among 5 sons,
" 4 daughters and 2 nephews. If each

e e " - PRI TIVR SN
PO HOUE A TI P P PN TRV (AN PO T8 O POWL NS PR RS MOTTA TR (WA PRICEATIVA S

22

daughter receives four times as much as

each nephew, and each son receives five

‘times as much as each nephew, how

much does each daughter receive ?
(A) %900

®B) %1100

(C) %1200

(D) %1500

PULN TV
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